S 5l = T s Aritmetik for eksponenter (negative eksponenter)

Nan: Dato: Score:
52+ (-3) = (DT (4) =
(-7)" 4= 1D 42 =
10° - 8= 20D +8=
(1) +(-9) = (1= (-6) =
52 +3= -2)V+1=
(—6)° — 8= (—4) D + 8 =
(-0 -2= I*+(-10)=
4=(-3)= (-10)"2 +(=5) =
(=5)° = (-6) = (-8)" —4=
40D 43 = DV =(=2)=
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Navn: Dato: Score:
52 +(-3) =22 (D) +(—4) = (-3)
(-7)° — 4= (-3) 1Y +2=13
0 20y g= 17 _g]
10°—8=(-7) =5 =83
295 1
N ey 222
I
5% +3=128 =2y " 1=7
31 3
I G I D

] 13 1
OV =2=(2)=(22)  1+(-10)=(-9)

_ 499 99
4—(=3)=7 (-10)2 +(=5) = 700’ = 4700’
_ 33 1
(=5)2 — (=6) = 31 (&) —4=(-5) = (+43)
_ 49 1
402 43 = 6 3% D)V —(=2)=1
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